CENTRAL LIMIT THEOREM FOR A DOUBLE ARRAY OF HARRIS CHAINS

By K. B. ATHREYA¹

Iowa State University

and

C. D. FUH2

Academia Sinica, Taipei

SUMMARY. Let $X_n = \{X_{nj} : j > 0\}$ be a sequence of Harris recurrent Markov chains with X_n having a general state space (S_n, S_n) . A central limit theorem for $\sum_{j=0}^{N_n} f_n(X_{nj})$ is established in this paper where f_n is a sequence of suitable measurable functions from S_n to.

1. INTRODUCTION

In a recent paper Kulperger and Prakasa Rao (1989) studied the method of bootstrap for finite state Markov chains. While extending their results to the countable state space case, Athreya and Fuh (1989) established a central limit theorem for a double array of Markov chains with countable state space. The present paper extends that result to more general state spaces under the assumption of existence of recurrent singletons. This is not as restrictive as it may seem at first. It is known that if a Markov chain $\{X_i\}$ on a state space S with a countably generated σ -algebra is Harris recurrent (that is, there exists a σ -finite measure φ on S such that $\varphi(A) > 0$ implies $P_x(T_A < \infty) \equiv 1$ for all x in S, where P_x refers to starting at x and $T_A \equiv \inf\{j: j \geqslant 1, X_j \in A\}$), then there exists an integer $n_0 \geqslant 1$ such that the sequence $Y_n = X_{nn_0}$, n = 0, 1, 2, ... is a regenerative sequence of random variables. In fact, there exist random terms $\alpha_1, \alpha_2, \alpha_3, \dots$ such that $\{Y_{\alpha_{i+1}}: 0 \leqslant j \leqslant \alpha_{i+1}-\alpha_{i}-1, \alpha_{i+1}-\alpha_{i}\}, i=1,2,\dots \text{ are independent and } i=1,2,\dots$ identically distributed cycles. The reader is referred to Athreya and Ney (1978) and Nummelin (1984) for details.

Paper received. June 1990; revised April 1991.

AMS (1980) subject classifications. Primary 60G05; secondary 60J10.

Key words and phrases. central limit theorem, Markov chain, stationary distribution, transition kernel, weak law of large numbers.

¹Research partially supported by NSF Grant 8803639.

^{*}Research partially supported by NSC of ROC Grant 79-0208-M001-63.

The motivation for proving a central limit theorem of the kind presented in this paper comes from an attempt to prove the consistency of bootstrap methods for a Harris recurrent Markov chain. In that context, for each n one has an estimate P_n of the transition probability and then bootstraps using this P_n . It is of interest to show that the boogstrap is consistent if P_n is. This leads to a double array situation.

The central limit theorem and a weak law of large numbers are stated in the next section, their proofs are given in Section 3. Alternative assumptions for the validity of the weak law is discussed in Section 4. Comprehensive background discussions on Harris recurrent Markov chain are available in Nummelin (1984).

2. STATEMENT OF THE RESULTS

Let $X_n \equiv \{X_{nj}; j \geqslant 0\}$ be a sequence of Markov chains with state spaces (S_n, S_n) such that for each n there exists a singleton $\Delta_n \in S_n$ such that $P_{n\Delta_n}(T_{n\Delta_n} < \infty) = 1$, where P_{nx} refers to the probability distribution of X_n under $X_{n0} = x$, and $T_{n\Delta_n}$ be the first hitting time of the Harris chain X_n to its recurrent point Δ_n on the state space S_n , namely,

$$T_{n\Delta_n} = \left\{ egin{aligned} &\inf\left\{\,j\geqslant\,1,\,X_{nj}=\Delta_n
ight\}\,;\ &\infty, & ext{if no such }j ext{ exist.} \end{aligned}
ight.$$

Let

$$u_n(A) \equiv E_{n\Delta_n} \left(\begin{array}{c} T_n \Delta_n - 1 \\ \sum_{j=0} I_A(X_{nj}) \right) \quad \text{for } A \in S_n.$$

It is known (Nummelin, 1984) that $\nu_n(.)$ is σ -finite and invariant for X_n , that is,

$$\nu_n(.) = \int \nu_n(dy) P_n(y,.)$$

where $P_n(y, .) = P(X_{n_1} \epsilon . | X_{n_0} = y)$ is the transition kernel function of the chain X_n .

Assume that $\nu_n(S_n) \equiv E_{n\Delta_n} T_{n\Delta_n} < \infty$ and set $\pi_n(.) \equiv \nu_n(.)/\nu_n(S_n)$. Let $f_n: S_n \to \mathbb{R}$ be S_n measurable. We are interested in proving a central limit theorem for $\sum_{j=0}^{N_n} f_n(X_{nj})$, where $N_n \to \infty$ as $n \to \infty$. We assume in what follows that $N_n \to \infty$ as $n \to \infty$.

An important step in our proof of the central limit theorem is the weak law below that is also of some independent interest.

Theorem 1. Let for $\rho > 0$ and $x \in X_n$,

$$\delta_{n}(\rho, x) \equiv \sup_{m > \rho N_{n}} \left| \frac{1}{m} \sum_{s=1}^{m} P_{n}^{(s)}(x, \Delta_{n}) - \pi_{n}(\Delta_{n}) \right|.$$

Let $m_n \equiv \sum_{j=0}^{N_n} I_{\Delta_n}(X_{nj})$ be the number of visits to Δ_n by $\{X_{nj}: 0 \leq j \leq N_n\}$ and $\tilde{\pi}_n(\Delta_n) \equiv N_n^{-1} m_n$. Assume that the sequence of initial distributions of X_{n0} satisfy

$$\lim_{n \to 0} \limsup_{n \to \infty} E \delta_n(\rho, X_{n_0}) = 0. \tag{1}$$

Then

$$\tilde{\pi}_n(\Delta_n) - \pi_n(\Delta_n) \to 0$$
 in probability,

where $\pi_n(\Delta_n) = (E_{n\Delta_n} T_{n\Delta_n})^{-1}$.

In Section 4, a variety of sufficient conditions to ensure (1) are discussed. The next result is the central limit theorem.

Theorem 2. Assuming the following conditions hold,

(i)
$$f_n \in L_2(\pi_n)$$
, $\int f_n d\pi_n = 0$ and $\frac{\int |f_n| d\pi_n}{\sigma_n \sqrt{N_n \pi_n(\Delta_n)}} \to 0$,

- (ii) $\lim_{n} \inf \pi_n(\Delta_n) > 0$,
- (iii) for each $\epsilon > 0$, as $n \to \infty$, we have

$$\frac{1}{\sigma_n^2} E_{n\Delta_n} \left\{ (\eta_{n1}(f_n))^2 ; |\eta_{n1}(f_n)| > \epsilon \sigma_n \sqrt{[N_n \pi_n(\overline{\Delta_n})]} \right\} \to 0,$$

where

$$\eta_{n1}(f_n) \equiv \sum_{j=0}^{T_{n\Delta_n}-1} f_n(X_{nj}),$$

$$\sigma_n^2 \equiv E_{n\Delta_n} (\eta_{n11}(f_n))^2$$

$$= 2 \int f_n(x) (T_n f_n) (x) \pi_n(dx) - \int f_n^2(x) \pi_n(dx),$$

and

$$(T_n f_n)(x) \equiv E_{nx} \begin{pmatrix} T_{n\Delta_n-1} \\ \Sigma \\ j=0 \end{pmatrix}$$

Then, under (1) (of Theorem 1),

$$\frac{1}{\sigma_n \sqrt{N_n \pi_n(\Delta_n)}} \sum_{j=0}^{N_n} f_n(X_{nj}) \to N(0, 1) \text{ in distribution.} \qquad \dots (2)$$

3. PROOFS OF THE RESULTS

Proof of Theorem 1.

$$\pi_{n\Delta_n}^{\bullet} \equiv E\tilde{\pi}_n(\Delta_n) = E\left[\begin{array}{cc} \frac{1}{N_n} & \sum\limits_{s=1}^{N_n} P_n^{(s)}(X_{n_0}, \Delta_n). \end{array}\right]$$

Clearly,

$$\left|\,\pi_{n\Delta_{n}}^{\bullet}-\pi_{n}(\Delta_{n})\,\right|\,\leqslant\,E\delta_{n}(\rho,\,X_{n_{0}})\ \, \text{for all}\ \, \rho<1\,.$$

and so, it is enough to prove

$$\tilde{\pi}_n(\Delta_n) - \pi_n^{\bullet} \Delta_n \to 0$$
 in probability.

Now, for any given $\epsilon > 0$

$$P(|\tilde{\pi}_n(\Delta_n) - \pi_n^{\bullet} \Delta_n| > \epsilon) \leqslant \frac{1}{\epsilon^2} \text{ var } (\tilde{\pi}_n(\Delta_n))$$

$$\begin{split} &= \frac{1}{\epsilon^2} \Big[\frac{1}{N_n^2} \sum_{j=1}^{N_n} \text{var } (I_{\Delta_n}(X_{nj})) + \frac{2}{N_n^2} \sum_{k=1}^{N_n} \sum_{s=1}^{N_{n-k}} \text{cov } (I_{\Delta_n}(X_{nk}, I_{\Delta_n}(X_{n(k+s)}))) \Big] \\ &= \frac{1}{\epsilon^2} \Big[\frac{1}{N_n} + \frac{2}{N_n^2} \sum_{k=1}^{N_n} \sum_{s=1}^{N_{n-k}} E(P_n^{(k)}(X_{n_0}, \Delta_n)(P_n^{(s)}(\Delta_n, \Delta_n) - P_n^{(s+k)}(X_{n_0}, \Delta_n))) \Big] \\ &= \frac{1}{\epsilon^2 N_n} + \frac{2\Gamma_n}{\epsilon^2}, \text{ say.} \end{split}$$

It suffices to show that $\Gamma_n \to 0$.

Let
$$S_{nx}(m) \equiv \sum_{r=1}^{m} P_{nx} (X_{nr} = \Delta_n).$$

Let
$$\Gamma_n(x) \equiv \frac{1}{N_n^2} \sum_{k=1}^{N_n} P_n^{(k)}(x, \Delta_n) \left(S_{n\Delta n} \left(N_n - k \right) - S_{nx}(N_n) + S_{nz}(k) \right)$$

$$= \frac{1}{N_n^2} \sum_{k=1}^{N_n} P_n^{(k)}(x, \Delta_n) \left[\left(\frac{S_{n\Delta_n}(N_n - k)}{N_1 - k} - \pi_n(\Delta_n) \right) (N_n - k) - \left(\frac{S_{nx}(N_n)}{N_n} - \pi_n(\Delta_n) \right) N_n + \left(\frac{S_{nx}(k)}{k} - \pi_n(\Delta_n) \right) k \right]$$

Thus, for $0 < \rho < 1$,

$$\begin{split} | \, \Gamma_n(x) \, | \, &\leqslant \frac{1}{N_n^2} \sum_{k < (1-\rho)N_n} P_n^{(k)}(x, \Delta_n)(N_n - k) \delta_n(\rho, x) \\ &+ \frac{1}{N_n^2} \sum_{k > (1-\rho)N_n}^{N_n} (N_n - k) + \frac{\delta_n(\rho, x) N_n}{N_n^2} \sum_{k=1}^{N_n} P_n^{(k)}(x, \Delta_n) \\ &+ \frac{1}{N_n^2} \sum_{k < \rho N_n} k + \frac{\delta_n(\rho, x)}{N_n^2} \sum_{k > \rho N_n} P_n^{(k)}(x, \Delta_n) k \\ &\leqslant \delta_n(\rho, x) \Big(2 + \frac{1}{N_n^2} \sum_{j = \rho N_n}^{N_n} j \Big) + \frac{2}{N_n^2} \sum_{1}^{\rho N_n} j \\ &\leqslant C_1 \, \delta_n(\rho, x) + C_2 \rho^2, \end{split}$$

where C_1 and C_2 are constants and hence from (1)

$$\lim\sup_{n} |\Gamma_n| = 0. \quad \Box$$

For the proof of Theorem 2, we need the following three lemmata.

Lemma 1. Assume the hypotheses (i), (ii) of Theorem 2 and $0 < \sigma_n^2 < \infty$. Let $T_{n\Delta_n}^k$ be the k-th recurrent time to state Δ_n . Then, for any initial distribution of X_{n0} ,

$$\frac{1}{\sigma_n \sqrt{N_n \pi_n(\Delta_n)}} \sum_{j=T_{n\Delta_n}^{m_n}}^{N_n} f_n(X_{nj}) \to 0 \text{ in probability as } n \to \infty,$$

where $m_n = \sum_{j=0}^{N_n} I_{\Delta_n}(X_{nj})$ as in Theorem 1.

Proof. Let P denote the probability with distribution of X_n for a given initial distribution of X_{n0} . Then, for any e > 0,

$$P\left\{\left|\begin{array}{c} \sum\limits_{j=T_{n}^{m_{n}}}^{N_{n}} f_{n}(X_{nj}) > \epsilon\sigma_{n} \sqrt{N_{n}}\pi_{n}(\Delta_{n}) \end{array}\right\}\right.$$

$$= \sum_{r=0}^{N_{n}} P\left\{\left|\begin{array}{c} \sum\limits_{j=N_{n}-r}^{M_{n}} f_{n}(X_{nj}) > \epsilon\sigma_{n} \sqrt{N_{n}}\pi_{n}(\Delta_{n}); T_{n\Delta_{n}}^{m_{n}} = N_{n}-r \right\}\right.$$

$$\leq \sum_{r=0}^{N_{n}} P\left\{\begin{array}{c} \sum\limits_{j=N_{n}-r}^{T_{n}n+1} f_{n}(X_{nj}) > \epsilon\sigma_{n} \sqrt{N_{n}}\pi_{n}(\Delta_{n}); T_{n\Delta_{n}}^{m_{n}} = N_{n}-r \right\}\right.$$

$$= P_{n\Delta_{n}} \left\{\eta_{n1}(|f_{n}|) > \epsilon\sigma_{n} \sqrt{N_{n}}\pi_{n}(\Delta_{n})\right\} \sum_{r=0}^{N_{n}} P\left\{T_{n\Delta_{n}}^{m_{n}} = N_{n}-r\right\}$$

$$\leq P_{n\Delta_{n}} \left\{\eta_{n1}(|f_{n}|) > \epsilon\sigma_{n} \sqrt{N_{n}}\pi_{n}(\Delta_{n})\right\}\right.$$

$$\leq \frac{E(\eta_{n1}(|f_{n}|))}{\epsilon\sigma_{n}\sqrt{N_{n}}\pi_{n}(\Delta_{n})}$$

$$= \frac{\int |f_{n}| d\nu_{n}}{\epsilon\sigma_{n}\sqrt{N_{n}}\pi_{n}(\Delta_{n})}$$

$$\to 0. \quad \Box$$

Lemma 2. Let P be as in the proof of Lemma 1 above and let (1) hold. Then, under hypothesis (ii) of Theorem 2 and $0 < \sigma_n^2 < \infty$, we have for any $\epsilon > 0$,

$$P\left(\left|\frac{1}{\sigma_n\sqrt{N_n\pi_n(\Delta_n)}}\right|\sum_{j=0}^{m_n}\eta_{nj}(f_n)-\sum_{j=0}^{N_n\pi_n(\Delta_n)}\eta_{nj}(f_n)\right|>\epsilon\right)\to 0.$$

Proof. By Theorem 1, we have for any $\epsilon > 0$, there exists an integer n_0 such that

$$P\{|m_n-[N_n\pi_n(\Delta_n)]|>\epsilon^3N_n\}<\epsilon \text{ for all }n>n_0.$$

Clearly, for such n,

$$P\left(\left|\sum_{j=0}^{m_n}\eta_{nj}(f_n)-\sum_{j=0}^{N_n\pi_n(\Delta_n)}\eta_{nj}(f_n)\right|>\epsilon\,\sigma_n\,\sqrt{N_n\pi_n(\Delta_n)}\right)$$

$$\leqslant P\{|m_n = [N_n \pi_n(\Delta_n)]| > \epsilon^3 N_n\}$$

$$+P\Big\{\max_{|r-[N_n\pi_n(\Delta_n)]|\leqslant \epsilon^3N_n}\left|\sum_{j=[N_n\pi_n(\Delta_n)]+1}^r \eta_{nj}(f_n)\right|> \epsilon\sigma_n\sqrt{N_n\pi_n(\Delta_n)}\Big\}$$

$$<\epsilon+2P\left\{\max_{1\leqslant r\leqslant \epsilon^3N_n}\left|\sum_{j=1}^r\eta_{nj}(f_n)\right|>\epsilon\sigma_n\sqrt{N_n\pi_n(\overline{\Delta_n})}\right\} \text{ (by Theorem 1)}$$

$$<\epsilon + \frac{2E\left(\frac{\left(\mathbf{e}^{3}N_{n}\right)+1}{\sum_{j=1}^{j=1}\eta_{nj}(f_{n})\right)^{2}}{\epsilon^{2}\sigma_{n}^{2}N_{n}\pi_{n}(\Delta_{n})} \text{ (by Kolmogorov's inequality)}$$

$$= \epsilon + 2\epsilon \frac{1}{\pi_n(\Delta_n)}$$

$$\leqslant$$
 (Constant) ϵ . (since $\lim_{n} \inf \pi_n(\Delta_n) > 0$). \square

Lemma 3. The variance σ_n^2 of $\eta_{n_1}(f_n)$ is given by

$$\sigma_n^2 = E_{n\Delta n}(\eta_{n1}(f_n))^2$$

= $2 \int f_n(x) (T_n f_n)(x) v_n(dx) - \int f_n^2(x) v_n(dx),$

where
$$(t_n f_n)(x) \equiv E_{nx} \begin{pmatrix} T_{n\Delta n}^{-1} \\ \Sigma \\ j=0 \end{pmatrix}$$
.

$$\begin{split} &Proof. \quad E_{n\Delta_n}(\eta_{n1}(f_n))^2 \\ &= E_{n\Delta_n} \left(\frac{\sum\limits_{j=0}^{Tn\Delta_n - 1} f_n(X_{nj})}{\sum\limits_{i,j=0}^{T} f_n(X_{ni}) f_n(X_{nj})} \right)^2 \\ &= E_{n\Delta_n} \left(\frac{\sum\limits_{i,j=0}^{Tn\Delta_n - 1} f_n(X_{ni}) f_n(X_{nj})}{\sum\limits_{i=0}^{Tn\Delta_n - 1} \sum\limits_{j=i+1}^{Tn\Delta_n - 1} f_n(X_{ni}) f_n(X_{nj})} \right) \\ &= E_{n\Delta_n} \left(\frac{\sum\limits_{i=0}^{Tn\Delta_n - 1} f_n^2(X_{ni})}{\sum\limits_{i=0}^{T} f_n(X_{ni})} \right) \\ &= E_{n\Delta_n} \left(\frac{\sum\limits_{i=0}^{Tn\Delta_n - 1} f_n^2(X_{ni})}{\sum\limits_{i=0}^{T} f_n(X_{ni}) f_n(X_{nj}) I(T_{n\Delta_n} > j)} \right) \\ &= E_{n\Delta_n} \left(\frac{\sum\limits_{i=0}^{Tn\Delta_n - 1} f_n^2(X_{ni})}{\sum\limits_{i=0}^{T} f_n(X_{ni})} \right) \\ &+ 2 \sum\limits_{i=0}^{\infty} E_{n\Delta_n} \left[\left(I(T_{n\Delta_n} > i) (f_n X_{ni}) \right) \right] \\ &\cdot E \left(\sum\limits_{i=i+1}^{\infty} f_n(X_{nj}) I(T_{n\Delta_n} > j) | \mathcal{F}_{ni} \right) \right]. \end{split}$$

where \mathcal{F}_{ni} is the σ -algebra generated by $\{X_{nj} : j \leq i\}$. But

$$\begin{split} E_{n\Delta_n} \left[\sum_{j=i+1}^{\infty} f_n(X_{nj}) I(T_{n\Delta_n} > j \mid \mathcal{F}_{ni}) I(T_{n\Delta_n} > i) \right] \\ &= E_{nX_{ni}} \sum_{r=1}^{\infty} f_n(X_{nr}) I(T_{n\Delta_n} > r) I(T_{n\Delta_n} > i) \\ &= ((T_n f_n) (X_{ni}) - f_n (X_{ni})) I(T_{n\Delta_n} > i). \end{split}$$

Hence,

$$\begin{split} E_{n\Delta_{n}}(\eta_{n_{1}}(f_{n}))^{2} \\ &= E_{n\Delta_{n}} \left(\sum_{i=0}^{T_{n\Delta_{n}-1}} f_{n}^{2}(X_{ni}) \right) \\ &+ 2 \sum_{i=0}^{\infty} E_{n\Delta_{n}} \left[I(T_{n\Delta_{n}} > i) f_{n}(X_{ni}) \right] \left[((T_{n}f_{n}) (X_{ni}(X_{ni})) I(T_{n\Delta_{n}} > i) \right] \\ &= 2 \sum_{i=0}^{\infty} E_{n\Delta_{n}} \left[\left(I(T_{n\Delta_{n}} > i) f_{n}(X_{ni}(T_{n}f_{n}) (X_{ni}) - E_{n\Delta_{n}} \left(\sum_{i=0}^{T_{n\Delta_{n}}-1} f_{n}^{2}(X_{ni}) \right) \right] \\ &= 2 \int_{i=0}^{\infty} E_{n\Delta_{n}} \left[\left(I(T_{n\Delta_{n}} > i) f_{n}(X_{ni}(T_{n}f_{n}) (X_{ni}) - E_{n\Delta_{n}} \left(\sum_{i=0}^{T_{n\Delta_{n}}-1} f_{n}^{2}(X_{ni}) \right) \right] \right] \end{split}$$

Proof of Theorem 2. We decompose $(1/\sigma_n \sqrt{N_n \pi_n(\Delta_n)}) \sum_{j=0}^{N_n} f_n(X_n)$ as follows:

$$\frac{1}{\sigma_{n}\sqrt{N_{n}\pi_{n}(\Delta_{n})}} \sum_{j=0}^{N_{n}} f_{n}(X_{nj})$$

$$= \frac{1}{\sigma_{n}\sqrt{N_{n}\pi_{n}(\Delta_{n})}} \left(\sum_{j=0}^{m_{n}} \eta_{nj} (f_{n}) + \sum_{n=T_{n\Delta_{n}}}^{N_{n}} f_{n}(X_{nj})\right)$$

$$= \frac{1}{\sigma_{n}\sqrt{N_{n}\pi_{n}(\Delta_{n})}} \sum_{j=0}^{[N_{n}\pi_{n}(\Delta_{n})]} \eta_{nj}(f_{n}) \qquad \dots (3)$$

$$\frac{1}{\sigma_{n}\sqrt{N_{n}\pi_{n}(\Delta_{n})}} \sum_{j=0}^{N_{n}\pi_{n}(\Delta_{n})} \eta_{nj}(f_{n}) \qquad \dots (3)$$

$$+\frac{1}{\sigma_n\sqrt{N_n}\pi_n(\Delta_n)}\left(\sum_{j=0}^{m_n}\eta_{nj}(f_n)-\sum_{j=0}^{N_n\pi_n(\Delta_n)}\eta_{nj}(f_n)\right) \qquad \dots (4)$$

$$+\frac{1}{\sigma_n \sqrt{N_n \pi_n(\Delta_n)}} \sum_{j=T_{n\Delta}}^{N_n} f_n(X_{nj}). \qquad ... (5)$$

By Lemma 1 and assumption (i), we have that $(5) \rightarrow 0$ in probability, by Lemma 2, we have that $(4) \rightarrow 0$ in probability. Now, we need only to verify that

$$\frac{1}{\sigma_n \sqrt{\lceil N_n \pi_n(\Delta_n) \rceil}} \sum_{j=0}^{\lfloor N_n \pi_n(\Delta_n) \rfloor} \eta_{nj}(f_n) \to N(0, 1) \text{ in distribution.}$$

Let

$$Y_{nj} \equiv \frac{\eta_{nj}(f_n)}{\sigma_n \sqrt{[N_n \pi_n(\Delta_n)]}}$$
.

Then, we have for each n

- (1) $\{Y_{nj}; j=1,...,[N_n\pi_n(\Delta_n)]\}$ are i.i.d. random variables,
- $(2) \quad EY_{ad} = 0,$

(3)
$$\sum_{k=1}^{[N_n \pi_n(\Lambda_n)]} EY_{nj}^2 = \frac{E(\eta_{n1}(f_n))^2}{\sigma_n^2} = 1 \text{ (by assumption (iii))}.$$

Therefore, it is enough to show that $\{Y_{nj}\}$ satisfies the Lindeberg condition. That is, for any fixed $\epsilon > 0$, we have

$$\sum_{\substack{j=1\\ f=1}}^{\lfloor \hat{N}_n\pi_n(\Delta_n)\rfloor} E[Y_{nj}^2I(\mid Y_{nj}\mid >\varepsilon)] \to 0 \text{ as } n\to\infty.$$

But, the left side of the above equation is equal to

$$\frac{1}{\sigma_n^2} \ E[(\eta_{n1}(f_n))^2 \ ; \ | \, \eta_{n1}(f_n) \, | \ > \epsilon \ \sigma_n \ \sqrt{[N_n \pi_n(\Delta_n)]]}$$

 $\rightarrow 0$ as $n \rightarrow \infty$ (by assumption (iii)). \square

4. Some sufficient conditions for (1)

The assumption (1) of Theorem 1 relates the length of the observation N_n to the rate at which the n^{th} chain approaches (in Césaro mean) its stationary distribution. If P_n converges to a P that is nice, then it is reasonable to expect that this assumption holds.

Let $X = \{X_j\}$ be a Harris chain with state space (S, \mathfrak{S}) and transition kernel P(.,.). Let $X_n = \{X_{nj} : j = 1, 2, ..., N_n, n = 1, 2, ...\}$ be a sequence of Harris chains all with state space (S, \mathfrak{S}) , and transition kernel $P_n(.,.)$. As mentioned earlier, we assume without loss of generality that X_n, X have recurrent singletons.

Lemma 4. For $\rho N_n > L$,

$$\delta_n(\rho, x) \leqslant 2 \frac{L}{\rho N_n} + \Delta(n, x, L)$$

where

$$\Delta(n, x, L) = ||P_n^{(L)}(x, .) - \pi_n(.)||$$

and ||.|| is the total variation norm.

Proof. By stationarity for π_n , we have for s > L

$$\begin{split} P_n^{(s)}(x,.) - \pi_n(.) &= \int P_n^{(s-L)}(y,.) \ P_n^{(L)}(x,dy) - \int P_n^{(s-L)}(y,.) \ \pi_n(dy) \\ &= \int (P_n^{(L)}(x,dy) - \pi_n(dy)) P_n^{(s-L)}(y,.). \end{split}$$

which implies for x > L,

$$||P_n^{(s)}(x,\Delta_n) - \pi_n(\Delta_n)|| \le ||P_n^{(L)}(x,.) - \pi_n(.)||$$

Thus,

$$\delta_n(\rho, x) = \sup_{m > \rho N_n} \left\| \frac{1}{m} \sum_{1}^{m} P_n^{(s)}(x, .) - \pi_n(.) \right\|$$

$$\leqslant 2 \, rac{L}{
ho N_{\it n}} + \Delta(n, \, x, \, L) \quad \Box$$

This leads to the following sufficient condition for (1).

A1-2

Condition I. $\lim_{L\to\infty} \lim_{n\to\infty} E\Delta(n, X_{n_0}, L) = 0.$

Now

 $\Delta(n, x, L)$

$$\leqslant \|P_n^{(L)}(x,.) - P^{(L)}(x,.)\| + \|P^{(L)}(x,.) - \pi(.)\| + \|\pi(.) - \pi_n(.)\|$$

Thus, anothr set of sufficient conditions for (1) is

Condition II. (i)
$$\lim_{L\to\infty} \limsup_{n\to\infty} E\|P_n^{(L)}(X_{n0},.)-P^{(L)}(X_{n0},.)\|=0$$
,

- (ii) $\limsup_{L\to\infty} E\|P^{(L)}(X_{n0},.)-\pi(.)\|=0$,
- (iii) $\lim_{n\to\infty} ||\pi(.)-\pi_n(.)|| = 0.$

Sufficient conditions for the above are given by

Condition III. (i₁) for all $x \in S, ||P_n(x, .) - P(x, .)|| \to 0$ as $n \to \infty$,

(ii₁) for all
$$x \in S, ||P^{(L)}(x, .) - \pi(.)|| \to 0$$
 as $L \to \infty$,

$$(iii_1) \|\pi(.) - \pi_n(.)\| \to 0 \text{ as } n \to \infty,$$

(iv₁) there exist a σ finite measure μ on (S, \mathfrak{F}) such that $P(X_{n_0} \in dy) = f_n(y) \mu(dy)$, and there exist $F \in L_1(\mu)$ such that for all $n, |f_n(y)| \leq |f(y)|$ a.e. μ .

To see this, we first note that (ii) is implied by (ii_1) , (iv_1) and the Lebesgues dominated convergence theorem. Next we see that (i_1) implies

$$\begin{split} P_{n}^{(2)}(x,.) - P^{(2)}(x,.) \\ &= \int P_{n}(y,.) \, P_{n}(x,dy) - \int P(y,.) \, P(x,dy) \\ &= \int P_{n}(y,.) \, (P_{n}(x,dy)) - P(x,dy) + \int \left(P_{n}(y,.)\right) \, P(x,dy). \\ \text{and so,} \\ \|P_{n}^{(2)}(x,.) - P^{(2)}(x,.)\| \\ &\leqslant \|P_{n}(x,.) - P(x,.)\| + \int \|P_{n}(y,.) - P(y),.)\| P(x,dy). \end{split}$$

By bounded convergence theorem and (i_1) , the rightside goes to 0 for each $x \in S$. Similarly,

$$||P_n^{(k+1)}(x,.) - P^{(k+1)}(x,.)||$$

$$\leq ||P_n^{(k)}(x,.) - P^{(k)}(x,.)|| + ||P_n(y,.) - P(y,.)P^{(k)}(x,dy)|.$$

and by induction, we get that i_1 implies

$$||P_n^k(x,.)-P_n^{(k)}(x,.)|| \to 0$$
 for all $x \in S$ and for all k .

Now, (iv_1) and dominated convergence theorem yields (1).

Finally, a fourth set of sufficient conditions for (1) is

Condition IV. (i2) All X_n and X have a common recurrent point Δ ,

$$(ii_2) \quad \lim_{\rho \to 0} \quad \limsup_{n \to \infty} \quad \sup_{m \geqslant \rho N_n} E \left| \frac{1}{m} \sum_{1}^{m} P_n^{(s)} \left(X_{n_0}, \Delta \right) - \frac{1}{m} \sum_{1}^{m} P^{(s)}(X_{n_0}, \Delta) \right| = 0,$$

$$(iii_2) \quad \lim_{\rho \to 0} \quad \limsup_{n \to \infty} \sup_{m > \rho N_n} E \left| \frac{1}{m} \sum_{1}^{m} P^{(s)}(X_{n0}, \Delta) - \pi(\Delta) \right| = 0,$$

$$(iv_2)$$
 $[\pi_2(\Delta) - \pi(\Delta)] \to 0$ as $n \to \infty$.

Clearly, we can replace (ii_2) and (iii_2) by pointwise convergence (for each $X_{n_0} = x$) and then impose (iv) fo Condition III.

REFERENCES

- ATHREYA, K. B. and NEY, P. (1978). A new approach to the limit theory of recurrent Markov chains. Tran. Amer. Math. Soc., 245, 493-501.
- ATHREYA, K. B. and Fuh, C. D. (1989). Bootstrapping Markov chains: Countable case, Technical Report: B-89-7, Institute of Statistical Science, Academia Sinicia, Taipei, Taiwan, ROC.
- Kulperger, R. J. and Prakasa Rao, B.L.S. (1989). Bootstrapping a finite state Markov chain. Sankhyā A, 51, 178-191.
- Nummelin, E. (1984). General Irreducible Markov Chains and Non-Negative Operators, Cambridge University Press, Cambridge.

DEPARTMENT OF MATHEMATICS AND STATISTICS IOWA STATE UNIVERSITY AMES, IOWA U.S.A. Institute of Statistical Science Academia Sinica Taipei, Taiwan Republic of China.